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NT3019 1618304
2019(0dd)
Time : 3Hrs. Sem - III-C.S.E.
C. O. A,

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries I marks.
gu-Ad wh 20 vl @ o S, TG w1 AM [ dw 2
Answer all Five questions from Group B, each question
carries 4 marks.
79-B ¥ @ diw gl @ SR 2, 9AS W BT A 4G |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & et uiw yel @ IR <, HA® WE @B A 6T 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TF U & 9 J9 &1 IR U # W (SR 6 )
&1 wifey, srgem 3 Wife wdf o wad €

The figure in right hand margin indicate marks.
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GROUP-A

1. Choose the most suitable answer from the following
options : 1x20=20
gaiftre Jugad fAsey &1 gaax fod -

(i) Dynamic RAM consumes ............... power
and ......... than the static RAM.?
(a) More, Faster
(b) More, Slower
(¢) Less, Slower
(d) Less, Faster

iy wfoefia Im wWfos W & qar A L
wifed ailR Gqd HCT 2 |
(@) g |, AW
@) afere, <fimr
(6) &=, =i
(@) &4, 99

(i)  Which flag of the 8085's flag register is not
accessible to programmer directly ?
(a) Zero flag
(b) Carry flag
(c) Auxihary carry flag
(d) Parity flag
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(i) 8085 BT BIF HT T ¥forexw el
TRITR @ fog o & 2
(&) <Rt gt

Gv) Frafafaa ¥ @ o9 398 gaer @d
2 W fawrelt @Y angfdf s & wrch 2

(a1) sAfi® RAM
E_:)) 9 et a8 ot @) ©fed RAM
(d) EEROM
(2) AR @ 5T @ B¢ T

(i) Cache memory works on the principle of

(a) Locality of reference (v}  Which of the following interrupt 1s markable ?

(b) Locality of data {a) INTR
(c) Locality of memory (b) RST 7.5
(d) Locality of reference & memory (c) TRAP
(d) Both (a) and (b)

gin - o AAN fea Rigia w «m s 2|

(@) aBfAA s IEY vy fr=fafaa 4 4 a9 @ e aoTa
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(@) drefad) ife srer 27
(@) B sifw AN (%) INTR
(@) ABRHA 3Te JB¥E AR A (@) RST7.5

() TRAP

(ivy  Which of the memory holds the information (%) <t (31) sk (q)

when the power supply is switched off ?
(a) Dynamic RAM (vi)  Cycle stealing technique is used in
(b) Static RAM (a) Interruput based data transfer
(¢c) EEROM {b) DMA based data transfer
(d) None of the above (c) Polled mode data transfer

(d) All the above

P.T.O
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(vi)

(vii)

{wii)

(viii)
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Agdd Wi T dab-ie Syl faan
SIraT 21

(1) ST ImaTRa STeT TawHY
(@) DMA 3meTiRd STeT gTaw

(W) dice wie amutRa ST giawy
(?) T « il

Which of the following is not a characteristic
of a RISC architecture.

(a) Large Instruction Set

(b) One Instruction Per Cycle

(c) Simple Addressing Modes

(d) Register-to-Register Operation

fr=fafaa 4 & $19 RISC IRgHa 3
fagtear aff 2 ?

(a1) ool g aEE 9T

(@) 991 S RE W Aigfea

(@) R egfbT A

(g) v g ¥RieeR JATueE

Associative memory is some times called as-
(a) Content Addressable Memory

(b) Cache Memory

(¢) Main Memory

(d) Virtual Memory

P.T.O
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i) grEEd Gfa & ®N —Hf a1 e

(ix)

(ix)

(x)

av?

(1) T vgdTa AHN
(8) 9 79

(@) A9 A8

(2) adaa A9

Floating point representation 1s used to store
(a) Integers

(b) Whole numbers

(c) Real Integers

(d) Boolean values

Folfer—aige ufafafra ® wiv a1
& foa &1 SyanT fear war & ?

@) Qne

(@) ot s

(|) sraell qunis

(?) qfera gea

What characteristics of RAM memory makes

it not suitable for permanent storage ?
(a) Too bulky

(b) Unreliable

(c) Too slow

(d) It is volatile
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I A9 B 741 faviwar s )
HeRvl & foy Sugaa adf 2

(o) aga =

@) sfazarafra

() sga =

(®) 98 slRerr 2

An instruction code is

(a) An output of a programme

(b} A group of bits that instruct the computer
to perform specific operation

(c) The digital circuit that instruct the
computer to perform specific operation

(d) None of the above

s fade ais @ -

(31) W™ &1 a¥eye

@) facw &1 @ wqgE S FYX B
fafire ARy &= s fadw
qar 21

(@) feforca wfve ot Fvgex &t
fafdrse i s &1 fAdw
ar 21

(@) % | P T
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The program counter (PC) holds the address of

(a) The instruction is being executed

(b) The next instruction to be read from
memory

(c) The operands

(d) None of these

T sree fFasT yar v@ar @ ?
(@) Adw Freofea fea s 2

(@) 999 4 veT WH 9relr 3FTen gy
(@) sy

(8) 37 & @iz =&

The function of the control unit in digital
computer 1s

(a) To initiate sequence of micro operations
(b) To initiate the execution of a program
(¢) To stop the execution of a program

(d) To shutdown the computer

feforea avgex 4 sgia gfae &1

a4 2|

(31) WTFHT ATIRIA BT IAGHH ARA HIAT
(@) sdHA &1 oA v 1 @ forg
(@) adesw & s o dea @ fag
(]) #7gex 43 o+ & fay
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(xv)

(xv)
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A memory that is the part of a Control unit
is known as -

(a) Internal Memory

(b) External Memory

(c) Command Memory

(d) Control Memory

AN o sgra gfie &1 e 2
(31) anafk® A9

&) I=h AAH

(A1) sHIs AFN

(?) ®gia A\

A group of ecight bits is known as
(a) Nibble

(b) A byte

(¢) An Octet

(d) Both (b) and (c)

3 facw & s wE & fow v A
ST AT & ?

(&) freaa

(@) & w@1gT

(|) & JAldce

() @ (1) 3 (A)
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The tendency of a processor to access the
same set of memory locations repetively
over a short period of time is known as.
(a) Local effect

(b) Locality of reference

(c) Frame of reference

(d) All of the above

(xvi) WG B BIE) A 4 wae: wfa wm=

{xvii)

® Ud & 9T & ATdad & @ fayg
U YR &1 99y & $7 A W
SITar @ |

(31) e 9919

(8) b & weriaar

(W) dde &1 TN

(2) g7 | wf

The CPU state is saved in the event of a

transfer control-

(a) From one instruction to a non-sequential
instruction of a program

(b) From our program to another

(c) During execution of an instruction due to
an interrupt cycle

(d) None of the above statement is true
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(i) ETEBR dgld ol Rafa & CPU &1 Rerfa

& 9T WAy & —

(@) 9ra™m @ gs g d iR

IFmiaes Al
(@) & 9™ A g U™ 9

(@) M fengs @ A =g

UIH AT W B NI

() SWId ®I3 A U G T 2 |

(xviii) A computer uses RAM chips of 1024 x1
capacity . How many chips are needed to
provide a memory capacity of 16 k bytes.

(a) 16

(b) 128

(c) 32

(d) None of these

(xviil) U HYeR RAM Feq &1 SuaiT &=an
1024 x1 &HdT $T 16 kb 1 HAN &waT

g v+ & forg faq faog @1
Jraggdar gl |

(a1) 16

(@) 128

(W) 32

@) 4  3I1E &
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Booth's algorithm is used for:
(a) Division

(b) Multiplication

(c) Subtraction

(d) Division and Multiplication

9 TnRen ganhT fean smar 8-
(a1) fawra=

(@) T

(W) =erT

(]) fawre &k [oE

The instruction that does not need any address
ficld 1s:

(a) Three address instructions

(b) Two address instructions

(c) One address instructions

(d) Zero address instruction

g fade e fasft +f gar wies )
JTTLIHAT TE 2

@) = & Adw

(@) <t 9d & Ay

(@) v ud & A

@) A W & Ay
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GROUPB
Answer all Five Questions.

4x5=20
gt oig gt & SO ¢ | >

2.  Write steps to multiply two negative numbers using
booth algorithm.

g1 TR &1 ITANT HB I ABRIHSD
"t & on s & faw genfRes fad |

OR (31214T)

Write down the IEEE standards for floating point

numbers. https://www.sbtediploma.com

goiifes wige wear @ foe [EEE 9l &)
fordd |

What is ROM ? How does PROM differ from
EEPROM ?

T

4

ROM €T 2 ? PROM @9 EEPROM 9| 3rel i
e

P.T.O
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OR(37214r)

With the help of block diagram, discuss working of
direct memory access (DMA) ?

P AN Dl 49 A wad A9 vy
(DMA) ® ®TH YR 949f &Y |

What are the advantages and disadvantages of

hardwired and micro programmed control ?
4

B 9 AR "IgsH! NI wgld @ BIad
IR THaE T 2|

OR (31214T)
Define cache memory.

34 AU St Ry a3

Define interrupt and discuss its type.
4

9T (interrupt) B IRATRAT & 3R g9
yeRl WX 9 |
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OR(3121@1)

What do you mean by pipeline in computer

organitation ?

$YSY WS A UIZUATgA T 9T Adold o7

6. Define addressing mode and its type.

vefbT Ate ek 9 ueR & aRuafya
N |

OR(312141)

Explain the role of stacks in programming.

yRnfieT § Ry H e $1 e wW

P.T.O
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GROUP -C

Answer all Five Questions.
w uig gl @ SR 2|
7. Convert into binary-

(a) (0.375),,

(b) (0.54545),,

(c) (38.210),,

a3 A uRafda s |
(a) (0.375),,

(b) (0.54545),,

(¢) (38.210),,

OR(121aT)

Convert into decimal
(@) (73)g

(b) (125),

() (35)6

https://www.sbtediploma.com
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AIgHI-AWREF 1 8 ? Al 9917 AR |ajy
¥ ey &Y ¥ dX W) I qren efifes
FTURIH |

OR (372r4T)

What do you mean by control unit? Describe briefly
a hardwired control unit. Also give its timing

diagram.

sl gfie | a1 waae 287 w89 3 gredan
Fgia gfe &1 aofa #¥ | gua efiT
S M T
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Tymad A aRafda av |
What do you mean by fetch cycle, instruction cycle,
(@) (73)s machine cycle, interrupt acknowledgment cycle ?
(b) (125), 6
(©) (35), ©d qh, A< 9m, AN 9P, A<
yPldluii~< 9% 9 a7 Hddd § ?
What is a micro-operation ? List and briefly
explain the most commonly encountered OR (312ra)
arithmetic operations. y

Discuss in brief (with their advantage and
disadvantage).

(1) RISC

(i1) CISC

8T ¥ WHIMY (A1 3R qFaT & TR HA)
(i) RISC
(i) CISC

. An instruction is stored at location 300 with its

address field at location 301. The address field has
the vale 400. A processor register R1 contains the
number 200. Compute the effective address if the
addressing mode of the instruction is

(1) Direct 6
(ii) Immediate.
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11.

AT 301 U U U & & o 91 &
300 X U® 93 X 8 | 4aT Bies &1 714
400 2| U9 FIOWR feeR RI W 200 5% 2 |
gAY uar 9d sy R Bidw

(1) SRR

NEGIEE]

OR (31214T)

Explain the need of memory hierarchy with the
help of a block diagram ? What is the reason for
not having one large memory unit for storing all
information at one place ?

<l SU™ $I #Sg 9 A9l UgIgHH DI
JATATYEHAT B AT HR? Th S8 U3 |Hl
a3 $ ufed #33 @ fay @ @<
gfie 9 9 &1 Fa R 8 ?

A personal computer has main memory of 32 k x 8

bytes and cache memory of 512 words. The cache

is directly mapped with block size of 4 words.

(i) How many bits are required in Tag, index block
and word fields of the address format ? 6

P.T.O
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UF YA HYcY 4 T8 AR 32k x 8
913cH 1Y B9 AAN 512 999 2| D
sTsde Ay IR a8 & dear 2| (31) 2T,
ged¥ il 3R 93 Tles & YgH BIAT
A feagm flew 2 ?

OR (31y47)

What are various modes of data transfer between
CPU and /o devices ? Explain in brief.

WAy, IR ang /e feaga & A9 S
ciaey & =T afie «m 2 ? 989 o
HHEY |

*k%
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